BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.
A. GUIJOSA
MARCH 27, 2025

0074-4012D & 0074-4012 (9.2)

BIDDER NAME	BASE BID	ALTERNATE BID PLUS BASE BID
1) R CONSTRUCTION CIVIL, LLC	\$866,541.90	\$1,352,005.90
2) GONZALEZ CONSTRUCTION ENTERPRISE, INC.	\$932,474.85	\$1,524,742.05
3) BAY UTILITIES. LLC	\$942,096.90	\$1,492,332.50
4) HARRIS CONSTRUCTION COMPANY, LLC	\$993,687.00	\$1,650,290.20
5) DACO PAVING, INC.	\$1,047,543.18	\$1,594,000.00

CALENDAR DAYS (BASE BID) 30/50
CALENDAR DAYS (ALTERNATE BID ITEMS PLUS BASE BID) 75/95



I, Kirsten K. Wilson, PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025

			1) R CONSTRU	CTION CIVIL, LLC	'	RUCTION ENTERPRISE, NC.	3) BAY UTII	LITIES. LLC	4) HARRIS CONSTRUC	TION COMPANY, LLC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID WATER ITEMS 1. 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2124	\$36.00	\$76,464.00	\$36.78	\$78,120.72	\$39.00	\$82,836.00	\$34.00	\$72,216.00
 RESTRAINED JOINT 8" PVC, WATER PIPE, AWWA C-900, DR 14, CLASS 2: ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE PLACE 	•	14	\$220.00	\$3,080.00	\$106.51	\$1,491.14	\$93.00	\$1,302.00	\$89.00	\$1,246.00
3. LONG SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, AL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE"	EA .L	3	\$2,750.00	\$8,250.00	\$1,973.56	\$5,920.68	\$2,000.00	\$6,000.00	\$2,100.00	\$6,300.00
4. TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEA ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	DS, LF	2287	\$1.00	\$2,287.00	\$0.01	\$22.87	\$0.10	\$228.70	\$1.50	\$3,430.50
5. FIRE HYDRANTS, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VA & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	ALVE EA	5	\$6,400.00	\$32,000.00	\$5,818.86	\$29,094.30	\$5,800.00	\$29,000.00	\$6,000.00	\$30,000.00
6. 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	10	\$2,300.00	\$23,000.00	\$1,959.93	\$19,599.30	\$1,900.00	\$19,000.00	\$1,875.00	\$18,750.00
7. 2" BLOW-OFF VALVE AND BOX, COMPLETE IN PLACE	EA	3	\$485.00	\$1,455.00	\$855.61	\$2,566.83	\$900.00	\$2,700.00	\$850.00	\$2,550.00
8. WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AN REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BC ALL DEPTHS, COMPLETE IN PLACE	ND	2	\$450.00	\$900.00	\$150.00	\$300.00	\$2,000.00	\$4,000.00	\$500.00	\$1,000.00
9. DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES DEPTHS, COMPLETE IN PLACE	S, ALL LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$29.00	\$5,800.00	\$20.00	\$4,000.00
10. ADDITIONAL DUCTILE IRON FITTINGS, ALL DEPTHS, COMPLETE IN PLAC	E TON	1	\$1.00	\$1.00	\$6,000.00	\$6,000.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
11. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ON-SITE OUTSIDE OF ALL RIGHT OF WAYS, STRIPPING, STOCKPILE OF STRIPPING PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE		1	\$600.00	\$600.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00
12. AUTOFLUSHER, ALL SIZES, AS DIRECTED BY THE ENGINEER, COMPLETE PLACE	IN EA	5	\$2,550.00	\$12,750.00	\$6,287.61	\$31,438.05	\$3,000.00	\$15,000.00	\$5,000.00	\$25,000.00
SUBTOTAL BASE BID WATER ITEMS			-	\$164,787.00	•	\$179,053.89		\$169,366.70		\$167,692.50
BASE BID SANITARY SEWER ITEMS 1. "8" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 8'-12' CUT, COMPLETE IN PLACE "	LF	66	\$42.00	\$2,772.00	\$101.64	\$6,708.24	\$80.00	\$5,280.00	\$57.00	\$3,762.00
2. 8" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	32	\$77.00	\$2,464.00	\$103.42	\$3,309.44	\$85.00	\$2,720.00	\$63.00	\$2,016.00
3. 12" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	177	\$57.00	\$10,089.00	\$109.18	\$19,324.86	\$111.00	\$19,647.00	\$101.00	\$17,877.00
4. 12" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	1407	\$68.00	\$95,676.00	\$125.41	\$176,451.87	\$115.00	\$161,805.00	\$105.00	\$147,735.00
5. 15" PVC SEWER PIPE, AWWA C-900, DR 18 CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	20	\$184.00	\$3,680.00	\$156.70	\$3,134.00	\$120.00	\$2,400.00	\$390.00	\$7,800.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025

				1) R CONSTRUC	TION CIVIL, LLC	'	TRUCTION ENTERPRISE, INC.	3) BAY UT	ILITIES. LLC	4) HARRIS CONSTRUCT	TION COMPANY, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, DROP STRUCTURE, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	2	\$2,800.00	\$5,600.00	\$3,071.09		\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
7	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, DROP STRUCTURE, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	2	\$2,800.00	\$5,600.00	\$3,071.10	\$6,142.20	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
8	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1695	\$1.00	\$1,695.00	\$0,01	\$16.95	\$2.00	\$3,390.00	\$1.50	\$2,542.50
9	PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	14	\$3,700.00	\$51,800.00	\$2,789.36	\$39,051.04	\$3,300.00	\$46,200.00	\$2,675.00	\$37,450.00
10	EXTRA DEPTH OF SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	157	\$170.00	\$26,690.00	\$125.00	\$19,625.00	\$150.00	\$23,550.00	\$230.00	\$36,110.00
11	SANITARY SEWER PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$220.00	\$880.00	\$100.00	\$400.00	\$125.00	\$500.00	\$275.00	\$1,100.00
12	VIDEO INSPECTION AND CLEANING OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY ENGINEER) COMPLETE IN PLACE	LF	3448	\$2.25	\$7,758.00	\$1.00	\$3,448.00	\$2.00	\$6,896.00	\$3.50	\$12,068.00
13	DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$29.00	\$5,800.00	\$20.00	\$4,000.00
14	ADJUST SANITARY SEWER MANHOLE TO FINAL GRADE AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	14	\$50.00	\$700.00	\$150.00	\$2,100.00	\$100.00	\$1,400.00	\$500.00	\$7,000.00
15	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ON-SITE OUTSIDE OF ALL RIGHT OF WAYS, STRIPPING, STOCKPILE OF STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$700.00	\$700.00	\$650.00	\$650.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00
SUBTO	AL BASE BID SANITARY SEWER ITEMS			_	\$220,104.00		\$290,503.78	_	\$293,588.00		\$286,760.50
_	O FORCE MAIN ITEMS 6" PVC FORCE MAIN, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1730	\$28.00	\$48,440.00	\$28.95	\$50,083.50	\$30.00	\$51,900.00	\$28.00	\$48,440.00
2	6" PVC FORCE MAIN, C-900, DR 18, CLASS 235 RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	166	\$54.00	\$8,964.00	\$54.60	\$9,063.60	\$43.00	\$7,138.00	\$70.00	\$11,620.00
3	12" STEEL CASING FOR 6" FORCE MAIN, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	92	\$48.00	\$4,416.00	\$53.72	\$4,942.24	\$96.00	\$8,832.00	\$120.00	\$11,040.00
4	AIR RELEASE SANITARY SEWER MANHOLE (0'-8' DEPTH), TO INCLUDE RIGID	EA	1	\$10,700.00	\$10,700.00	\$9,599.44	\$9,599.44	\$10,000.00	\$10,000.00	\$14,000.00	\$14,000.00
5	PLASTIC INFLOW PROTECTOR, COMPLETE IN PLACE COAT EXISTING MANHOLE TO CREATE CORROSION RESISTANT MANHOLE FOR FORCE MAIN DISCHARGE, INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$7,214.10	\$7,214.10	\$9,600.00	\$9,600.00	\$10,000.00	\$10,000.00
6	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 6" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,725.50	\$1,725.50	\$3,400.00	\$3,400.00	\$1,200.00	\$1,200.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC.

A. GUIJOSA MARCH 27, 2025

				1) R CONSTRUC	CTION CIVIL, LLC		RUCTION ENTERPRISE,	3) BAY UTILITIES. LLC		4) HARRIS CONSTRUC	TION COMPANY, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	7. REMOVE AND OFFSITE DISPOSAL OF EXISTING 6" PLUG AND CLAMP AND CONNECT PROPOSED 6" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	LF	73	\$1.30	\$94.90	\$26.18	\$1,911.14	\$37.00	\$2,701.00	\$30.00	\$2,190.00
	8. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	1730	\$1.00	\$1,730.00	\$0.01	\$17.30	\$0.10	\$173.00	\$1.50	\$2,595.00
SUBTO	TAL BASE BID FORCE MAIN ITEMS			_	\$77,344.90		\$84,556.82	_	\$93,744.00		\$101,085.00
	BID DRAINAGE FACILITIES ITEMS 1. 24" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	1231	\$89.00	\$109,559.00	\$92.09	\$113,362.79	\$78.00	\$96,018.00	\$105.00	\$129,255.00
	2. 36" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	23	\$184.00	\$4,232.00	\$155.02	\$3,565.46	\$133.00	\$3,059.00	\$187.00	\$4,301.00
	3. 42" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	391	\$206.00	\$80,546.00	\$203.32	\$79,498.12	\$182.00	\$71,162.00	\$241.00	\$94,231.00
	4. 54" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	67	\$350.00	\$23,450.00	\$371.07	\$24,861.69	\$352.00	\$23,584.00	\$449.00	\$30,083.00
	5. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1712	\$1.00	\$1,712.00	\$0.01	\$17.12	\$0.10	\$171.20	\$1.50	\$2,568.00
	6. TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	14	\$3,200.00	\$44,800.00	\$2,739.38	\$38,351.32	\$3,000.00	\$42,000.00	\$3,145.00	\$44,030.00
	7. STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$1,100.00	\$22,000.00	\$1,313.76	\$26,275.20	\$2,500.00	\$50,000.00	\$1,100.00	\$22,000.00
	8. STAGE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$3,100.00	\$62,000.00	\$2,671.55	\$53,431.00	\$1,000.00	\$20,000.00	\$1,750.00	\$35,000.00
	9. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH REINFORCED CONCRETE TYPE "E" INLET TOP, ALL SIDES OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,400.00	\$6,800.00	\$3,397.45	\$6,794.90	\$3,100.00	\$6,200.00	\$3,500.00	\$7,000.00
1	0. REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,700.00	\$2,700.00	\$2,195.55	\$2,195.55	\$2,800.00	\$2,800.00	\$2,650.00	\$2,650.00
1	1. REGRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	118	\$9.00	\$1,062.00	\$10.12	\$1,194.16	\$10.00	\$1,180.00	\$6.00	\$708.00
1	2. VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER) COMPLETE IN PLACE	LF	1712	\$3.25	\$5,564.00	\$1.00	\$1,712.00	\$2.00	\$3,424.00	\$4.00	\$6,848.00
1	3. REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED 24" RCP TO EXISTING 24" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$650.00	\$3,900.00	\$200.00	\$1,200.00	\$1,400.00	\$8,400.00	\$975.00	\$5,850.00
1	4. REMOVE EXISTING REINFORCED CONCRETE TYPE "A" INLET TOP AND REPLACE WITH TYPE "C" STORM MANHOLE TOP, FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,400.00	\$2,400.00	\$2,385.95	\$2,385.95	\$2,800.00	\$2,800.00	\$750.00	\$750.00
1	5. 8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$650.00	\$650.00	\$200.00	\$200.00	\$100.00	\$100.00	\$300.00	\$300.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC.

A. GUIJOSA MARCH 27, 2025

0074-4012D & 0074-4012 (9.2)

				1) R CONSTRU	JCTION CIVIL, LLC	2) GONZALEZ CONSTR	4	3) BAY UTILITIES. LLC		4) HARRIS CONSTRUCTION COMPANY,	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
16	BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 54" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$650.00	\$650.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00
17	ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$10.00	\$1,000.00	\$1.00	\$100.00	\$10.00	\$1,000.00	\$40.00	\$4,000.00
18	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$29.00	\$5,800.00	\$20.00	\$4,000.00
19	ADJUST STORM SEWER MANHOLE TO FINAL GRADE AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	14	\$50.00	\$700.00	\$150.00	\$2,100.00	\$100.00	\$1,400.00	\$300.00	\$4,200.00
20	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ON-SITE OUTSIDE OF ALL RIGHT OF WAYS, STRIPPING, STOCKPILE OF STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$1,900.00	\$1,900.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00
SUBTO	AL BASE BID DRAINAGE FACILITIES ITEMS				\$379,625.00	_	\$362,745.26	_	\$352,098.20	_	\$402,474.00
_	D MISCELLANEOUS ITEMS . STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS		\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$1,400.00	\$1,400.00	\$1,200.00	\$1,200.00
2	CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$2,400.00	\$2,400.00
3	. INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$300.00	\$300.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
4	. INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	4710	\$2.00	\$9,420.00	\$0.01	\$47.10	\$2.00	\$9,420.00	\$2.50	\$11,775.00
5	. STAGE II INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	22	\$30.00	\$660.00	\$20.00	\$440.00	\$50.00	\$1,100.00	\$50.00	\$1,100.00
6	TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS) COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$1,500.00	\$1,500.00	\$50.00	\$50.00	\$2,500.00	\$2,500.00
7	BROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	4	\$650.00	\$2,600.00	\$1,400.00	\$5,600.00	\$1,100.00	\$4,400.00	\$1,000.00	\$4,000.00
8	. HYDROMULCH SEEDING FOR R.O.W., INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$1,500.00	\$3,000.00	\$2,450.00	\$4,900.00	\$2,400.00	\$4,800.00	\$2,800.00	\$5,600.00
9	. ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	28	\$200.00	\$5,600.00	\$1.00	\$28.00	\$300.00	\$8,400.00	\$200.00	\$5,600.00
10	EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$20.00	\$200.00	\$30.00	\$300.00	\$33.00	\$330.00	\$50.00	\$500.00
SUBTO	AL BASE BID MISCELLANEOUS ITEMS				\$24,681.00		\$15,615.10	_	\$33,300.00		\$35,675.00

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025

			1) R CONSTRU	CTION CIVIL, LLC		RUCTION ENTERPRISE,	3) BAY UTII	3) BAY UTILITIES. LLC		TION COMPANY, LLC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNATE BID PAVING ITEMS			4	4	4		4	4	40	4.00.00
1. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6678	\$46.00	\$307,188.00	\$58.01	\$387,390.78	\$52.50	\$350,595.00	\$64.75	\$432,400.50
2. 6" LIME/FLY ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	7134	\$4.00	\$28,536.00	\$4.38	\$31,246.92	\$4.20	\$29,962.80	\$5.40	\$38,523.60
3. HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED GEOTECHNICAL ENGINEER), COMPLETE IN PLACE		95	\$345.00	\$32,775.00	\$359.00	\$34,105.00	\$365.00	\$34,675.00	\$425.00	\$40,375.00
4. FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/S\ (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	(), TON	189	\$145.00	\$27,405.00	\$170.00	\$32,130.00	\$141.00	\$26,649.00	\$165.00	\$31,185.00
5. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	384	\$4.00	\$1,536.00	\$5.25	\$2,016.00	\$3.80	\$1,459.20	\$4.35	\$1,670.40
6. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3602	\$4.00	\$14,408.00	\$5.25	\$18,910.50	\$3.80	\$13,687.60	\$4.35	\$15,668.70
7. ROADWAY EXCAVATION, COMPLETE IN PLACE	CY	7	\$350.00	\$2,450.00	\$100.00	\$700.00	\$343.00	\$2,401.00	\$30.00	\$210.00
8. ROADWAY EMBANKMENT, COMPLETE IN PLACE	CY	892	\$4.50	\$4,014.00	\$5.75	\$5,129.00	\$8.00	\$7,136.00	\$10.00	\$8,920.00
9. CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	G EA	1	\$2,200.00	\$2,200.00	\$2,250.00	\$2,250.00	\$500.00	\$500.00	\$800.00	\$800.00
10. REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$250.00	\$250.00	\$15.00	\$15.00	\$200.00	\$200.00
11. COMPLETE LOT GRADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL AREAS), INCLUDING STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE		1	\$3,700.00	\$3,700.00	\$8,750.00	\$8,750.00	\$16,800.00	\$16,800.00	\$14,850.00	\$14,850.00
12. V-BOTTOM SWALE WITH 3:1 SIDE SLOPE ALONG SIDE LOT LINE, COMPLETIN PLACE	ГЕ ЕА	5	\$980.00	\$4,900.00	\$1,250.00	\$6,250.00	\$1,075.00	\$5,375.00	\$500.00	\$2,500.00
SUBTOTAL ALTERNATE BID PAVING ITEMS			-	\$429,113.00	-	\$529,128.20	_	\$489,255.60	_	\$587,303.20
ALTERNATE BID PAVING MISCELLANEOUS ITEMS 1. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS, COMPLETE IN PLACE	LS	1	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00	\$1,200.00	\$1,200.00
2. INSTALL, MAINTAIN, AND REMOVE CONCRETE WASHOUT AREA, COMPLE IN PLACE	TE EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
3. EXISTING INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	5	\$30.00	\$150.00	\$50.00	\$250.00	\$50.00	\$250.00	\$75.00	\$375.00
4. ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	28	\$225.00	\$6,300.00	\$25.00	\$700.00	\$300.00	\$8,400.00	\$200.00	\$5,600.00
 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTOL PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE 	NS, LS	1	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$10,100.00	\$10,100.00	\$12,950.00	\$12,950.00
 TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE 	LS LS	1	\$1.00	\$1.00	\$3,000.00	\$3,000.00	\$250.00	\$250.00	\$3,500.00	\$3,500.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025

				1) R CONSTRUC	TION CIVIL, LLC		RUCTION ENTERPRISE, NC.	3) BAY UT	ILITIES. LLC	4) HARRIS CONSTRUC	TION COMPANY, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
7.	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	5	\$15.00	\$75.00	\$50.00	\$250.00	\$18.00	\$90.00	\$21.00	\$105.00
8.	ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	EA	12	\$1,800.00	\$21,600.00	\$1,950.00	\$23,400.00	\$1,500.00	\$18,000.00	\$1,675.00	\$20,100.00
9.	TYPE III BARRICADE, COMPLETE IN PLACE	EA	5	\$1,200.00	\$6,000.00	\$1,500.00	\$7,500.00	\$1,410.00	\$7,050.00	\$1,525.00	\$7,625.00
10.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	140	\$22.00	\$3,080.00	\$35.00	\$4,900.00	\$25.00	\$3,500.00	\$18.00	\$2,520.00
11.	HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$2,450.00	\$2,450.00	\$2,400.00	\$2,400.00	\$3,200.00	\$3,200.00
12.	EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	10	\$20.00	\$200.00	\$30.00	\$300.00	\$33.00	\$330.00	\$60.00	\$600.00
13.	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$20.00	\$200.00	\$40.00	\$400.00	\$45.00	\$450.00	\$80.00	\$800.00
14.	EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$3.00	\$300.00	\$2.00	\$200.00	\$5.00	\$500.00
15.	EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$2,450.00	\$2,450.00	\$2,400.00	\$2,400.00	\$3,200.00	\$3,200.00
16.	EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$650.00	\$650.00	\$1,400.00	\$1,400.00	\$1,100.00	\$1,100.00	\$950.00	\$950.00
17.	EXTRA FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$145.00	\$1,450.00	\$170.00	\$1,700.00	\$140.00	\$1,400.00	\$165.00	\$1,650.00
18.	EXTRA HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	1	\$345.00	\$345.00	\$359.00	\$359.00	\$360.00	\$360.00	\$425.00	\$425.00
19.	6" PVC IRRIGATION SLEEVES SCH 40, INCLUDE RISERS, COMPLETE IN PLACE	LF	60	\$40.00	\$2,400.00	\$38.00	\$2,280.00	\$35.00	\$2,100.00	\$50.00	\$3,000.00
SUBTOT	AL ALTERNATE BID PAVING MISCELLANEOUS ITEMS			_	\$56,351.00	-	\$63,139.00	_	\$60,980.00	_	\$69,300.00
BID SUM	IMARY										
BASE BIE	WATER ITEMS				\$164,787.00		\$179,053.89		\$169,366.70		\$167,692.50
BASE BIE	SANITARY SEWER ITEMS				\$220,104.00		\$290,503.78		\$293,588.00		\$286,760.50
BASE BIE	FORCE MAIN ITEMS				\$77,344.90		\$84,556.82		\$93,744.00		\$101,085.00
BASE BIE	DRAINAGE FACILITIES ITEMS				\$379,625.00		\$362,745.26		\$352,098.20		\$402,474.00
BASE BIE	MISCELLANEOUS ITEMS				\$24,681.00		\$15,615.10		\$33,300.00		\$35,675.00
TOTAL A	MOUNT BASE BID				\$866,541.90		\$932,474.85		\$942,096.90		\$993,687.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.

A. GUIJOSA MARCH 27, 2025 0074-4012D & 0074-4012 (9.2)

				1) R CONSTRI	JCTION CIVIL, LLC	2) GONZALEZ CONS	TRUCTION ENTERPRISE,	3) BAY (JTILITIES. LLC	4) HARRIS CONSTRUCTION COMPANY, LLC	
							NC.				
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNA	TE BID										
TOTAL AN	MOUNT BASE BID				\$866,541.90		\$932,474.85		\$942,096.90		\$993,687.00
PAVING I	TEMS				\$429,113.00		\$529,128.20		\$489,255.60		\$587,303.20
PAVING N	MISCELLANEOUS ITEMS				\$56,351.00		\$63,139.00		\$60,980.00		\$69,300.00
TOTAL AL	TERNATE BID PLUS BASE BID				\$1,352,005.90		\$1,524,742.05		\$1,492,332.50		\$1,650,290.20

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477 CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC.

A. GUIJOSA

MARCH 27, 2025

				5) DACO F	PAVING, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
-	D WATER ITEMS 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2124	\$42.00	\$89,208.00
2.	RESTRAINED JOINT 8" PVC, WATER PIPE, AWWA C-900, DR 14, CLASS 235, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	14	\$150.00	\$2,100.00
3.	LONG SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE"	EA	3	\$2,274.00	\$6,822.00
4.	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2287	\$0.02	\$45.74
5.	FIRE HYDRANTS, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	5	\$5,893.00	\$29,465.00
6.	8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	10	\$2,068.00	\$20,680.00
7.	2" BLOW-OFF VALVE AND BOX, COMPLETE IN PLACE	EA	3	\$1,034.00	\$3,102.00
8.	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$517.00	\$1,034.00
9.	DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00
10.	ADDITIONAL DUCTILE IRON FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	TON	1	\$500.00	\$500.00
11.	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ON-SITE OUTSIDE OF ALL RIGHT OF WAYS, STRIPPING, STOCKPILE OF STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$7,940.00	\$7,940.00
12.	AUTOFLUSHER, ALL SIZES, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	5	\$5,170.00	\$25,850.00
SUBTOT	AL BASE BID WATER ITEMS			-	\$190,746.74
-	D SANITARY SEWER ITEMS "8" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 8'-12' CUT, COMPLETE IN PLACE "	LF	66	\$62.00	\$4,092.00
2.	8" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	32	\$81.00	\$2,592.00
3.	12" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	177	\$84.00	\$14,868.00
4.	12" PVC SEWER PIPE, ASTM D2241, SDR 26, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	1407	\$99.00	\$139,293.00
5.	15" PVC SEWER PIPE, AWWA C-900, DR 18 CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	20	\$155.00	\$3,100.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025

				5) DACO P	AVING, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
6.	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, DROP STRUCTURE, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	2	\$2,895.00	\$5,790.00
7.	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, DROP STRUCTURE, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	2	\$3,515.00	\$7,030.00
8.	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1695	\$0.02	\$33.90
9.	PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	14	\$3,309.00	\$46,326.00
10.	EXTRA DEPTH OF SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	157	\$207.00	\$32,499.00
11.	SANITARY SEWER PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$259.00	\$1,036.00
12.	VIDEO INSPECTION AND CLEANING OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY ENGINEER) COMPLETE IN PLACE	LF	3448	\$2.00	\$6,896.00
13.	DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00
14.	ADJUST SANITARY SEWER MANHOLE TO FINAL GRADE AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	14	\$1.00	\$14.00
15.	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ON-SITE OUTSIDE OF ALL RIGHT OF WAYS, STRIPPING, STOCKPILE OF STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$9,925.00	\$9,925.00
SUBTOT	AL BASE BID SANITARY SEWER ITEMS			-	\$277,494.90
	O FORCE MAIN ITEMS 6" PVC FORCE MAIN, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1730	\$52.00	\$89,960.00
2.	6" PVC FORCE MAIN, C-900, DR 18, CLASS 235 RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	166	\$79.00	\$13,114.00
3.	12" STEEL CASING FOR 6" FORCE MAIN, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	92	\$52.00	\$4,784.00
4.	AIR RELEASE SANITARY SEWER MANHOLE (0'-8' DEPTH), TO INCLUDE RIGID	EA	1	\$14,470.00	\$14,470.00
5.	PLASTIC INFLOW PROTECTOR, COMPLETE IN PLACE COAT EXISTING MANHOLE TO CREATE CORROSION RESISTANT MANHOLE FOR FORCE MAIN DISCHARGE, INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,168.00	\$5,168.00
6.	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 6" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,034.00	\$1,034.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025 0074-4012D & 0074-4012 (9.2)

DAJOB	No.		00	74-40125 & 0074-401	2 (3.2)
				5) DACO PAV	/ING, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
7	REMOVE AND OFFSITE DISPOSAL OF EXISTING 6" PLUG AND CLAMP AND CONNECT PROPOSED 6" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	LF	73	\$52.00	\$3,796.00
8	. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	1730	\$0.02	\$34.60
SUBTO	TAL BASE BID FORCE MAIN ITEMS				\$132,360.60
_	D DRAINAGE FACILITIES ITEMS . 24" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	1231	\$104.00	\$128,024.00
2	. 36" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	23	\$181.00	\$4,163.00
3	. 42" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	391	\$235.00	\$91,885.00
4	. 54" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	67	\$419.00	\$28,073.00
5	. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1712	\$0.02	\$34.24
6	. TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	14	\$3,101.00	\$43,414.00
7	. STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$1,344.00	\$26,880.00
8	. STAGE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$2,171.00	\$43,420.00
9	. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH REINFORCED CONCRETE TYPE "E" INLET TOP, ALL SIDES OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,895.00	\$5,790.00
10	. REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,585.00	\$2,585.00
11	. REGRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	118	\$4.15	\$489.70
12	. VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER) COMPLETE IN PLACE	LF	1712	\$2.00	\$3,424.00
13	. REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED 24" RCP TO EXISTING 24" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$259.00	\$1,554.00
14	. REMOVE EXISTING REINFORCED CONCRETE TYPE "A" INLET TOP AND REPLACE WITH TYPE "C" STORM MANHOLE TOP, FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,585.00	\$2,585.00
15	. 8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$259.00	\$259.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA MARCH 27, 2025

0074-4012D & 0074-4012 (9.2)

5) DACO PAVING, INC.

				5) DACO P	AVING, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 54" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$477.00	\$477.00
17.	ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$50.00	\$5,000.00
18.	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00
19.	. ADJUST STORM SEWER MANHOLE TO FINAL GRADE AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	14	\$1.00	\$14.00
20.	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ON-SITE OUTSIDE OF ALL RIGHT OF WAYS, STRIPPING, STOCKPILE OF STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$22,500.00	\$22,500.00
SUBTOT	AL BASE BID DRAINAGE FACILITIES ITEMS				\$414,570.94
_	D MISCELLANEOUS ITEMS STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00
2.	CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00
3.	. INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$550.00	\$550.00
4.	. INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	4710	\$2.00	\$9,420.00
5.	. STAGE II INLET PROTECTION BARRIERS, COMPLETE IN PLACE	EA	22	\$50.00	\$1,100.00
6.	TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS) COMPLETE IN PLACE	LS	1	\$300.00	\$300.00
7.	BROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	4	\$1,000.00	\$4,000.00
8.	. HYDROMULCH SEEDING FOR R.O.W., INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$2,000.00	\$4,000.00
9.	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	28	\$250.00	\$7,000.00
10.	EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$50.00	\$500.00
SUBTOT	AL BASE BID MISCELLANEOUS ITEMS			-	\$32,370.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC.

A. GUIJOSA MARCH 27, 2025

				5) DACO PAVING, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	ATE BID PAVING ITEMS 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6678	\$54.00	\$360,612.00
2.	6" LIME/FLY ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	7134	\$4.50	\$32,103.00
3.	HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	95	\$375.00	\$35,625.00
4.	FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	189	\$150.00	\$28,350.00
5.	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	384	\$4.50	\$1,728.00
6.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3602	\$4.50	\$16,209.00
7.	ROADWAY EXCAVATION, COMPLETE IN PLACE	CY	7	\$9.00	\$63.00
8.	ROADWAY EMBANKMENT, COMPLETE IN PLACE	CY	892	\$4.75	\$4,237.00
9.	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	EA	1	\$300.00	\$300.00
10.	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA		\$1.00	\$1.00
11.	COMPLETE LOT GRADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL AREAS), INCLUDING STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$4,350.00	\$4,350.00
12.	V-BOTTOM SWALE WITH 3:1 SIDE SLOPE ALONG SIDE LOT LINE, COMPLETE IN PLACE	EA	5	\$550.00	\$2,750.00
SUBTOT	AL ALTERNATE BID PAVING ITEMS			•	\$486,328.00
	ATE BID PAVING MISCELLANEOUS ITEMS STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS, COMPLETE IN PLACE	LS	1	\$8,500.00	\$8,500.00
2.	INSTALL, MAINTAIN, AND REMOVE CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00
3.	EXISTING INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	5	\$50.00	\$250.00
4.	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	28	\$1.00	\$28.00
5.	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$10,010.82	\$10,010.82
6.	TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$350.00	\$350.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

CITY OF HOUSTON, HARRIS COUNTY, TEXAS

MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA

MARCH 27, 2025

				5) DACO PAVING, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
7.	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	5	\$18.00	\$90.00
8.	ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	EA	12	\$1,600.00	\$19,200.00
9.	TYPE III BARRICADE, COMPLETE IN PLACE	EA	5	\$1,500.00	\$7,500.00
10.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	140	\$20.00	\$2,800.00
	HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$2,000.00	\$2,000.00
12.	EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	10	\$50.00	\$500.00
	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$50.00	\$500.00
14.	EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00
15.	EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$2,000.00	\$2,000.00
16.	EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00
	EXTRA FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$25.00	\$250.00
18.	EXTRA HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	1	\$450.00	\$450.00
19.	6" PVC IRRIGATION SLEEVES SCH 40, INCLUDE RISERS, COMPLETE IN PLACE	LF	60	\$50.00	\$3,000.00
SUBTOTAL ALTERNATE BID PAVING MISCELLANEOUS ITEMS \$60,128.82					\$60,128.82
BID SUM	IMARY				
BASE BID) WATER ITEMS				\$190,746.74
BASE BID SANITARY SEWER ITEMS					\$277,494.90
BASE BID FORCE MAIN ITEMS					\$132,360.60
BASE BID DRAINAGE FACILITIES ITEMS					\$414,570.94
BASE BID) MISCELLANEOUS ITEMS				\$32,370.00
TOTAL AMOUNT BASE BID					\$1,047,543.18

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477 CITY OF HOUSTON, HARRIS COUNTY, TEXAS MARCH 27, 2025 LJA ENGINEERING, INC. A. GUIJOSA MARCH 27, 2025 0074-4012D & 0074-4012 (9.2)

					5) DACO PAVING, INC.		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL		
LTERNATE BID							

TOTAL AMOUNT BASE BID \$1,047,543.18

PAVING ITEMS \$486,328.00

PAVING MISCELLANEOUS ITEMS \$60,128.82

\$1,594,000.00 TOTAL ALTERNATE BID PLUS BASE BID